

Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC25 : Entrepreneurship Development MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC25	MS299n	SGPA	тс	Failed
51.110		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	Courses
1	23/AE/009	AMIT GAUTAM	В	С	С	В	B+	Α	0	6.33	24	
2	23/AE/070	UTTAM SINGH	A+	Α	A+	Α	A+	A+	A+	8.67	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC21 : Tinkering Studio & Elements of Design MS299n : Community Engagement (Mentoring School Students)

Sr N/	Poll No	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC21	MS299n	SGPA	тс	Failed
51.140	Sr.No Roll No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA		Courses
3	23/AE/041	MOHAMMED FUZAIL	Α	A	0	A	Α	0	A+	8.58	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC27 : Introduction to Environmental Science

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC27	SGPA	то	Failed
31.140			4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
4	23/AE/023	DIPANSHU NEHRA	A+	A+	A+	A+	A+	A+	B+	8.83	24	
5	23/AE/050	PRIYANSHU SARRAF	B+	В	B+	B+	B+	A+	В	6.92	24	
6	23/AE/053	RAGHAV JHA	A	Α	В	B+	A	A+	A+	7.67	24	

fladhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

				_	-	-			-			
7	23/AE/063	SHASHWAT SINHA	B+	В	P	B+	A	A+	B+	6.67	24	
8	23/AE/067	SUMIT HANS	Α	B+	В	B+	В	A+	B+	7.00	24	
9	23/AE/081	ABHISHEK	B+	Α	В	В	B+	A+	B+	7.00	24	
10	23/AE/082	ABHISHEK CHAUDHARY	Α	Α	B+	A	A	A+	A	7.92	24	
11	23/AE/088	GATIK GUPTA	Α	B+	B+	Α	B+	A+	B+	7.50	24	
12	23/AE/090	HITEN CHAND	0	Α	A	0	A+	A+	A	8.92	24	
13	23/AE/098	KUSHANK AGGARWAL	A+	Α	B+	A	A	0	A	8.17	24	
14	23/AE/100	MANAS	A+	Α	A+	A+	0	A+	A	8.92	24	
15	23/AE/103	NISHCHAY CHAUDHARY	A+	A+	A	A	A+	A+	A+	8.67	24	
16	23/AE/108	SACHIN KUMAR CHAHAR	В	B+	В	В	A	A+	В	6.75	24	
17	23/AE/109	SALIL MITTAL	Α	Α	B+	B+	B+	A+	A	7.58	24	
18	23/AE/121	GAURAV TANWAR	С	В	P	С	С	0	B+	5.58	24	
19	23/AE/124	GAURANG KAPOOR	Α	В	A+	B+	A+	A+	В	7.75	24	
20	23/AE/126	BHAVYA KUMAR	В	B+	B+	Р	B+	A+	Р	6.25	24	
21	23/AE/128	MOHIT KUMAR NAINWAYAN	В	В	В	В	С	A+	В	6.08	24	
22	23/AE/132	ABHIJEET RAJ	B+	В	В	С	С	A+	В	6.08	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC25 : Value Driven Leadership

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC25	SGPA	тс	Failed
51.140		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses

fadhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

23	23/AE/038	MAYANK	B+	B+	В	В	В	A+	Α	6.75	24	
24	23/AE/048	PRANAV SINGH	В	B+	В	В	F	0	В	5.50	20	AE209n
25	23/AE/075	VINAY RANA	В	Р	Р	С	С	A+	Р	5.08	24	
26	23/AE/076	ABHISHEK MANU SAXENA	B+	С	В	В	B+	A+	Α	6.58	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC20 : Sketching & Rendering MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC20	MS299n	SGPA	тс	Failed Courses
31.110		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA		Falled Courses
27	23/AE/025	DIVYANSH KUMAR	F	F	F	Р	F	А	A+	2.08	8	AE201n AE203n AE205n AE209n
28	23/AE/062	SHASHWAT SAXENA	F	F	F	F	F	F	A+	0.75	2	AE201n AE203n AE205n AE207n AE209n AEC20
29	23/AE/079	GINA MLINGANISI SICINISO	В	С	B+	С	В	А	A+	6.25	24	
30	23/AE/104	PANKAJ	Α	A+	0	0	A+	A+	A+	9.17	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC13 : Negotiation & Leadership

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC13	SGPA	тс	Failed
51.140		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses

(Hadhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

31	23/AE/034	KEERAT SINGH	С	В	В	С	0	A+	B+	6.67	24	
32	23/AE/066	SUMIT CHAUHAN	0	B+	0	Α	A+	A+	Α	8.75	24	
33	23/AE/125	SHAMIM ASHRAF	B+	Α	A	В	B+	A+	A+	7.50	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC9 : Introduction to Biological Science

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC9	SGPA	тс	Failed
51.140		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
34	23/AE/010	ANKIT	A	B+	В	B+	B+	A+	B+	7.17	24	
35	23/AE/026	DORAIN VERMA	0	0	0	A+	0	A+	A+	9.67	24	
36	23/AE/032	KAMAL SHEHARA	B+	B+	0	B+	Α	A+	B+	7.83	24	
37	23/AE/114	SURAJ YADAV	B+	A+	B+	B+	Α	A+	A	7.75	24	
38	23/AE/120	HARDIK TIWARI	С	В	F	С	F	0	В	4.00	16	AE205n AE209n
39	23/AE/123	SARVAGYA JAIN	A+	A+	B+	B+	В	0	0	8.00	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC22 : Universal Human Values: I Self-Family

	DUUN	Newsork	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC22	0000	TO	Failed
Sr.No	Roll No.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	SGPA		Courses
40	23/AE/019	CHANDAN KUMAR ARYAN	Α	B+	A	B+	A	A+	A+	7.83	24	

fladhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

41	23/AE/096	KRRISHPREET SINGH	Α	A+	0	Α	0	A+	Α	8.92	24	
----	-----------	-------------------	---	----	---	---	---	----	---	------	----	--

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC20 : Sports I

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC20	SGPA	тс	Failed
51.110		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA		Courses
42	23/AE/035	KHALID MAHMOOD	A+	A+	A	A+	A+	A+	Α	8.75	24	
43	23/AE/117	VIVAAN GUPTA	С	С	F	С	B+	A+	B+	5.00	20	AE205n
44	23/AE/130	SHOURYA KUMAWAT	Α	B+	B+	Α	Α	A+	A+	7.83	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC5 : Communication Skills MS299n : Community Engagement (Mentoring School Students)

Sr No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC5	MS299n	SGPA	тс	Failed
Sr.No			4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA	10	Courses
45	23/AE/044	PARMANAND SHARMA	Α	F	Р	В	В	Α	0	5.50	20	AE203n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC11 : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC11	SGPA	то	Failed
51.140		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses

Hadhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

46	23/AE/033	KARAN SARDAR	A	A+	B+	B+	А	A+	A	7.92	24	
----	-----------	--------------	---	----	----	----	---	----	---	------	----	--

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC1 : Appreciation of Fiction MS299n : Community Engagement (Mentoring School Students)

Sr No		Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC1	MS299n	SGPA	тс	Failed
Sr.No		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA		Courses
47	23/AE/054	RAMAN	Α	A+	Α	Α	Α	Α	A+	8.25	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC6 : Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC6	SGPA	тс	Failed
51.110	NOILNO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
48	23/AE/028	HARSHIT KATARIA	F	Р	С	Р	F	A+	А	3.58	16	AE201n AE209n
49	23/AE/102	NISHANT CHANDNA	0	0	0	A+	0	A+	0	9.75	24	
50	23/AE/118	VIVEK JHA	A+	0	A	0	0	A+	A+	9.33	24	
51	23/AE/127	PRATYUSH RANJAN KUMAR	A	A	A	B+	A	A+	0	8.08	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC3 : Appreciation of Short Stories MS299n : Community Engagement (Mentoring School Students)

(Hadhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC3	MS299n	SGPA	то	Failed
51.140	HOILING.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
52	23/AE/065	SUJAL KUMAR	A+	Α	A	Α	Α	A	A+	8.25	24	
53	23/AE/069	TANMAY SUTRADHAR	Α	B+	B+	A+	Α	B+	A+	7.83	24	
54	23/AE/099	LAKSHAY	A+	0	Α	A+	A+	B+	A+	8.83	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC13 : Logical Reasoning MS299n : Community Engagement (Mentoring School Students)

		Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC13	MS299n	SGPA	тс	Failed	
				4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
	55	23/AE/001	ABHISHEK GUPTA	B+	A+	А	Α	A+	B+	A+	8.17	24	

AE201n : Quantitative Techniques AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students)

ſ	Sr.No	Roll No.	Name of Student	AE201n	AE205n	AE207n	AE209n	MS299n	SGPA	тс	Failed Courses
	Sr.No	non No.	Name of Student	4.00	4.00	4.00	4.00	2.00	JULA	10	Talled Courses
[56 23/AE/042	MOHD ANAS	F	F	F	F	A+	1.00	2	AE201n AE205n AE207n AE209n	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC11 : Soft Skills and Personality Development MS299n : Community Engagement (Mentoring School Students)

(Hadhukag ...

OIC (Results)

Num

Controller of Examination



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC11	MS299n	SGPA	тс	Failed Courses
51.10	HOILNO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA	10	Falled Courses
57	23/AE/040	MAYANK RAJA	Ρ	F	F	F	F	B+	A+	2.00	8	AE203n AE205n AE207n AE209n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC16 : Professional Ethics & Human Values

Sr No	Boll No	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC16	SGPA	тс	Failed
Sr.No Roll No.		4.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	Courses	
58	23/AE/131	SWARNIM	0	0	A+	A+	0	A+	0	9.58	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC24 : Universal Human Values: Understanding Harmony

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC24	SGPA	тс	Failed
51.140		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
59	23/AE/091	ISHIKA SINGH	Α	B+	B+	В	В	A+	A+	7.17	24	
60	23/AE/095	KAVISH DHAWAN	Α	0	0	0	0	A+	0	9.58	24	
61	23/AE/116	VIKRAM PANDIT	A+	B+	B+	A	A	A+	A+	8.00	24	
62	23/AE/119	ISHAN SINGH	A+	B+	A+	A	A+	A+	0	8.58	24	

fladhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC28 : Meditation and Conscious Living

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC28	SGPA	то	Failed
	HOILING.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses
63	23/AE/086	DARSHAN SOLANKI	0	В	B+	В	A	A+	A+	7.67	24	
64	23/AE/093	JATIN KUMAR SHARMA	В	В	С	B+	B+	0	0	6.83	24	
65	23/AE/115	VANSH ARYA	В	A	В	C	В	A+	A+	6.67	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC2 : Appreciation of Poetry & Prose MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC2	MS299n	SGPA	то	Failed
51.110		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses
66	23/AE/089	GYANAN SANKHLA	A+	B+	Α	B+	A+	Α	A+	8.08	24	
67	23/AE/107	RUPANSHU KAIM	B+	B+	С	С	С	Α	A+	6.25	24	
68	23/AE/110	SARTHAK KANSAL	F	A	B+	B+	Α	A+	A+	6.50	20	AE201n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC19 : Technical Communication MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC19	MS299n	SGPA	тс	Failed
31.110	HOILNO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses

fladhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

6	69	23/AE/113	SPARSH JAIN	0	0	A+	A+	A+	A+	A+	9.33	24	
7	70	23/AE/122	UDAY KATARA	A+	A	Α	В	Α	A+	A+	8.00	24	
7	71	23/AE/129	GURKIRAT SINGH SALUJA	B+	С	B+	F	В	Α	A+	5.58	20	AE207n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC19 : Science & Practice Of Happiness

Gr	No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC19	SGPA	тс	Failed
Sr.No	NUI NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses	
7	72	23/AE/105	PARVEEN MALIK	A+	A+	A+	Α	A+	A+	A	8.75	24	
7	73	23/AE/111	SHANYA SHANKAR	A+	0	A+	0	0	A+	A+	9.50	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC10 : German MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC10	MS299n	SGPA	тс	Failed
Sr.NO			4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA	10	Courses
74	23/AE/106	PUSHKAR DEV	A+	B+	B+	Α	A+	A+	A+	8.17	24	
75	23/AE/112	SHIVANSH VATS	Α	A+	A	B+	A+	A+	A+	8.33	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer MS299n : Community Engagement (Mentoring School Students) VAC21 : Sports II

(Hadhukag ...

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

	Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC21	SGPA	тс	Failed
		Roll NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA	10	Courses
	76	23/AE/085	BHANU	B+	С	С	В	B+	A+	Α	6.42	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC15 : Public Speaking MS299n : Community Engagement (Mentoring School Students)

Sr No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC15	MS299n	SGPA	тс	Failed
Sr.No	ROII NO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA		Courses
77	23/AE/083	ADITYA KUMAR JHA	B+	B+	Р	B+	B+	0	A+	6.92	24	

AE201n: Quantitative Techniques AE203n: Thermodynamics AE205n: Machine Tools and Manufacturing AE207n: Theory of Machines AE209n: Heat Transfer MS299n: Community Engagement (Mentoring School Students) VAC30: Yoga

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC30	SGPA	тс	Failed
	ROILNO.		4.00	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		Courses
78	23/AE/097	KULDEEP BISHNOI	B+	B+	В	В	A	A+	A+	7.17	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC18 : Spoken Skills in English MS299n : Community Engagement (Mentoring School Students)

(Hadhukag ..

OIC (Results)



Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER

Result Declaration Date : 13-05-2025

Notification No: 1825

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC18	MS299n	SGPA	тс	Failed
51.10		Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
79	23/AE/077	ADIL JABAR MIR	В	B+	B+	B+	B+	0	A+	7.25	24	
80	23/AE/078	SARTHAK GUPTA	B+	B+	B+	B+	Α	A+	A+	7.50	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Theory of Machines AE209n : Heat Transfer AEC6 : Communicative Hindi (Only for foreign national students) MS299n : Community Engagement (Mentoring School Students)

Sr No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC6	MS299n	SGPA	тс	Failed
Sr.No	ROILNO.	Name of Student	4.00	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		Courses
81	23/AE/080	SIMISO GOODWILL TSABEDZE	В	С	B+	В	С	Α	A+	6.25	24	

(hadhukag ..

OIC (Results)